
WJEC 2014 Online Exam Review

GCSE Mathematics Linear 2 4370-06

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 12082 1.4 0.9 2 70.1 99.4
1b 11942 2.5 0.8 3 84.8 98.2
2 11969 4.9 2.2 8 61.6 98.5

3a 11898 0.5 0.5 1 52.4 97.9
3b 9839 1.4 1.7 4 34.7 80.9
3c 11609 2.8 1.5 4 69 95.5
3di 12038 2.7 1.4 4 66.7 99
3dii 11955 2.6 0.9 3 86.5 98.3

4 11908 4 1 5 80.5 97.9
5 11808 2.9 2.2 6 48.1 97.1
6 11427 1.4 1.1 3 45.8 94
7 11448 1.8 1.4 4 45.8 94.2
8 12074 4.2 2.8 8 52.3 99.3
9 10727 1.5 1.8 4 37 88.2

10a 11095 1.5 1.3 3 50.5 91.3
10b 11990 1.9 1.1 3 62.9 98.6
11 11985 3.4 2.2 6 57.1 98.6
12 10335 1.8 2.2 7 25.6 85
13 10399 0.4 0.8 6 6.9 85.5
14 10479 1.6 2.3 7 23.3 86.2

15a, 15b 11104 0.6 1.1 4 14.2 91.3
15c 8891 1.5 1.8 5 30.4 73.1

70.1 84.8 61.6 52.4 34.7 69 66.7 86.5 80.5 48.1 45.8 45.8 52.3 37 50.5 62.9 57.1 25.6 6.9 23.3 14.2 30.4 
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3.
	 (b)	 The mean temperature in Moscow for a 12 month period is 4°C.

It is warmest in July, typically 26°C.
What would be the estimate for the mean temperature in Moscow if the temperature for 
July was not included?	 [4]



3.



3.

Sticky Note
Division here should be by the 11 months now considered, not 12

Sticky Note
Correct idea to start



3.



3.

priork
Sticky Note
The candidate considers the number of months, but incorrectly

priork
Sticky Note
Clearly correct thinking to start
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	 (d)	 Boris bought a car in Moscow for 251 850 Russian roubles.

(ii)	 The exchange rate for Russian roubles when Boris bought his car was
£1 = 50.37 Russian roubles.
At the same time, Angharad bought a car in Wales.
Angharad paid £5250 for her car.
How much more than Boris did Angharad spend on buying her car?
Give your answer in pounds.	 [3]



3. d



3. d

Sticky Note
Although the question suggests to work in pounds, this candidate decides to convert the cost of Angharad's car to roubles instead

Sticky Note
This is the difference in the cost between Boris's car and Angharad's car, but the candidate is working in roubles. The incorrect unit given means that this candidate does not calculate the final stage, division by 50.37 to give an answer in pounds

Sticky Note
Marks awarded:
B1
M1
A0



3. d



3. d

Sticky Note
Continues with a correct method, still unaware of the place value. Error - no thoughts to the amount involved.

Sticky Note
Leading to a place value error, not noticed by the candidate

Sticky Note
Correct method



3. d



3. d

Sticky Note
Method to follow through is correct

Sticky Note
Marks awarded:
M1
A0
B1

Sticky Note
A place value error in calculation
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5. Claudia was given the following information.

© WJEC CBAC Ltd.

UK Income Tax

April 2013 to April 2014

taxable income = gross income – personal allowance

• personal allowance is £9205
• basic rate of tax: 20% on the first £32 255 of taxable income
• higher rate tax: 40% is payable on all taxable income over £32 255

During the tax year 2013 to 2014, Claudia’s gross income was £52 250.

Calculate the total amount of tax that Claudia should pay.
You must show all your working.	 [6]



5.



5.

Sticky Note
Marks awarded:
B1, B0, M1, M0, A0, A0

Sticky Note
An unreasonable amount of tax to pay!

Sticky Note
A misunderstanding that the 405 tax paid is simply double the 30% amount, no consideration of the part of the taxable income on which this tax is payable

Sticky Note
20% tax calculated accurately

Sticky Note
Correct taxable income



5.



5.

Sticky Note
Marks awarded:
B1, B0, M0, M0, A0, A0

Sticky Note
Incorrect. Decides that the whole of the taxable income should be taxed at 40%

Sticky Note
Taxable income correct



5.



5.

Sticky Note
Unfortunately the candidate does not calculate the 40% of  £10790

Sticky Note
Decision that tax at a higher rate is due on income of £10790

Sticky Note
20% tax calculated accurately

willir
Sticky Note
Taxable income correct

willir
Sticky Note
Marks awarded:
B1, B1, M1, M0, A0, A0
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6.	 Shade the region that satisfies both of the following conditions.
	 (i)	 The points are less than 4 cm from B.
	 (ii)	 The points are nearer to B than to A.	 [3]

© WJEC CBAC Ltd.

A

B





Sticky Note
Marks awarded:
B1
B0 (incorrect arc used from the choice)
B0

Sticky Note
Perpendicular bisector shown correctly

Sticky Note
Markers acetate

Sticky Note
Arcs centred at A & B are both shown, but the one from A is selected by the candidate to use





Sticky Note
Marks awarded:
B1  for the line
B1  for the arc
B0  for the shading, as incomplete

Sticky Note
Correct segment to shade, however as their arc is not complete, the full region is not indicated

Sticky Note
Markers' acetate

Sticky Note
Correct arc and perpendicular bisector.
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9. A ship leaves port A and sails for 6·2 miles on a bearing of 090° to a point B.
It then turns and sails on a bearing of 224° until it reaches point C, which is due south of
port A.
Calculate the distance between the point C and port A.	 [4]

© WJEC CBAC Ltd.

Diagram not drawn to scale

N

6·2 miles

N
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9.

Sticky Note
No marks awarded


Sticky Note
No indication of understanding the angle in the triangle from the bearing given in the question
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priork
Sticky Note
Marks awarded:
B1 for the angle
M0, A0 as no method to calculate the distance shown.

priork
Sticky Note
Unfortunately, lack of knowledge hinders further progress.

priork
Sticky Note
The candidate has a correct interpretation of the bearing given in the question
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Higher Tier 
Marks Comments 


3(b) (Total for 12 months 12  4 = )    48(°C) 


 48 - 26  (=22) 


 ÷ 11 


 = 2(°C) 


B1 


M1 


m1 


A1 


FT ‘their 12×4’ 


Award B4 for an unsupported answer of 2(°C) 


Sight of 48 – 26/12 is B1 only, 


Sight of (48-26)/12 is B1, M1 only 
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Higher Tier 
Marks Comments 


3(d)(ii)  


Boris’s car cost     251850/50.37 


 (£)5000 


     Angharad paid (£)250 (more) 


M1 


A1 


B1 


Treat use of 203998.5, 203998 or 203999 as MR-1 


FT 5250 – ‘their 5000’ correctly evaluated provided M1 


previously awarded 


OR 


(Angharad’s car 5250 × 50.37 = 264442.5 roubles)  AND 


Difference 264442.5 – 251850 =)   12592.5 (roubles)      B1 


(Difference, Angharad paid) 12592.5 ÷ 50.37      M1 


     (£)250 (more)         A1 


For the M1 A1, FT ‘their 12592.5’ provided appropriate 


calculations are shown in the first 2 stages 
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Higher Tier 
Marks Comments 


5. Taxable income (52250 – 9205=)  (£)43045 


40% tax to be paid on  (£)10790 


0.2  32255 (=6451) 


 0.4  10790 (=4316) 


     (£) 6451      AND      (£)4316 


Claudia’s tax should be (£)10767 


B1 


B1 


M1 


M1 


A1 


A1 


FT ‘taxable income’ – 32255, i.e.  


‘their 52250 -9205’ – 32255 correctly evaluated 


FT 0.4 × (‘their 43045’ – 32255) provided 


‘their 43045’ > 32255, also   


FT (52250 – 32255 =) giving 0.4 × 19995 (=7998) 


FT sum of ‘their 6451’ + ‘their 4316’ provided at least 1 of 


these values is correct and M2 awarded 


(Note: 6451 + 7998 = 14449) 
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Higher Tier 
Marks Comments 


6. Correct region shaded (major segment) B3 Mark intention.   


B1 for line,  


B1 for any arc radius 4cm centre B,  


B1 for shading (FT from a circle centre B and a straight line 


crossing AB) 
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Higher Tier 
Marks Comments 


9. Appropriate 46° or appropriate 44° seen or implied, e.g.


Distance = 6.2 × tan46°  OR Distance = 6.2 ÷ tan44° 


 = 6.4(2… miles) 


B1 


M2 


A1 


At least 1 relevant angle 44° or 46° seen or implied 


Sight of 224° is insufficient 


Do not FT for an angle of 45° as this is a simplified problem 


FT for M1 only, their 44° or their46° provided it is <90°  


M1 for tan46° = distance/6.2  or tan44° = 6.2/distance 


CAO 


Unsupported answers gets no marks 
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